DAY 1

MATH

SALUTE
The goal is to be the player whose
total is closer to 75, without going
over. Each player gets exactly 6 rolls.
Player 1 rolls a die. She multiplies the
number rolled by any number
between 1 and 5, or by 10. She records
the total. For example, if Player 1 rolls
a 3, and she chooses to multiply it by
5, then she would write “15.” Player 2
takes a turn. On Player 1's next turn,
CATHOLIC DISTRICT SCHOOL she adds her new product to her
i i A previous total. Players continue to
take turns until each player has had 6
turns. The player whose total is closer
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Using building blocks, create a
pattern that grows, shrinks or repeats.
Challenge your family to determine
how the pattern is changing or
repeating.
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Take a look at the pictures below:
Using a deck of cards, deal each P

player 5 cards. Players are asked to
find the mean (or median or mode) of
their 5 cards. The highest value gets 2
points to add to their running total.
The first player to reach 10 points
wins.

What fraction of the area in the figure is shaded?

The Big Nickel in Sudbury is 9 m wide.
About how many nickels would it take
to cover the face of the Big Nickel?

What equation would you write to
help you solve the following
problem? How would you solve each

What oth ‘
one? at o er graphnics or pi

can you create that have an equal
shaded area to the image above?

PREDICT HOW MANY How can you use lines of symmetry

to help you fold paper into eighths?
What other fractions would be easy
to create by using lines of

Figure out the height of a trapezoid
with the following requirements:

- a top base that is half the length Y sy mmetry?

of the bottom base Double t. Two dice each have the numbers 1,
- a height that is triple the length of @du‘f;:,',yby& 2,3, 4,5 and 6 on their faces. How
the top base Divide by 6. do the probabilities of rolling a sum

of 4 and rolling a sum of 7 compare?

- an area of 72 cm sq
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